5 Port Mechanical Valve
Rubber Seal

Series VFM3

Compact design,
large flow capacity 18 mm?2

High cycle rate,
long life/300 c.p.m. or less

Piping possible to any EXH
port.

Proper countermeasures can be taken
for applications in which the noise of
the exhaust could cause problems to
the surroundings.

External pilot model
available. (Option)

Foot bracket and manifold
mounting possible.

HRRF

-

- -
-

g L -
| 5! N
~—— ~ ~ L | B v

5-6-48

Specifications

LoV
CAD)

Fluid

Air/lnert gas

Operating pressure

0.15t0 0.9 MPa (1

Ambient and fluid temperature

—5 to 60°C (No freezing)

Effective area

18 mm?

Maximum frequency (Mechanical operation type)

300 c.p.m. or less

Lubrication Not required (Use turbine oil Class 1 1SO VG32, if lubricated.)
Port size Main valve/SUP, CYL port 4, EXH port 14

Pilot valve (EXH)/M5 x 0.8
Option Foot bracket @)

Weight (Basic)

260 g

Note 1) External pilot type Main valve: 0 to 0.9 MPa

Q + Please contact SMC for manifold mounting style.
Pilot valve: 0.15 to 0.9 MPa

Note 2) The standard body can not be retrofitted with a foot bracket.

Model
Actuator Model ,;:trttjantgr Application
S Basic VFM350-02-00 — —
= Roller lever VFM350-02-01 VM-01C Polyacetal roller
’g_ VFM350-02-01S VM-01CS Hard steel roller
o -02- -
= | One way roller lever VFM350-02-02 VM-02C Polyacetal roller
g VFM350-02-02S VM-02CS Hard steel roller
& | Straight plunger VFM350-02-05 VM-05D —
[ Roller plunger VFM350-02-06 VM-06D Polyacetal roller
= Al VFM350-02-06S VM-06DS Hard steel roller
Toggle lever VFM350-02-08 VM-08D —
VFM350-02-30R VM-30CR Red
VFM350-02-30B VM-30CB Black
Push button (Mushroom) VFM350-02-30G VM-30CG Green
c VFM350-02-30Y VM-30CY Yellow
2 VFM350-02-32R VM-32CR Red
I} VFM350-02-32B VM-32CB Black
& | Push button (Extended) VFM350-02-32G | VM-32CG Green
= VFM350-02-32Y VM-32CY Yellow
c
g -
= | Push button (Flush) VFM350-02-33 VM-33C black. arean yeitw
VFM350-02-34R VM-34CR Red
. - VFM350-02-34B VM-34CB Black
Twist selector (2 position) VFM350-02-34G VM-34CG Green
VFM350-02-34Y VM-34CY Yellow
Key selector (2 position) VFM350-02-36 VM-36C —

|®

able.

Note 1) Actuator replacement is available for all types.
Note 2) For push button (mushroom), push button (extended), push button (flush) and a single
unit of fastening ring, refer to pages 5-6-6 to 5-6-7. The other parts are not replace-

Note 3) The handle of the selector (2 position) cannot be removed or replaced alone.



5 Port Mechanical Valve

Rubber Seal Series Vl M 3 00
How to Order
| Option
Suffix for actuator Foot bracket
. Actuator type S | Hard steel roller = (Only internal pilot)
ﬂrt Size 00 Basic R | Red
02 Rc Va 01 Roller lever B | Black | Ccolorof
NO2| NPT 4 02 | One way roller lever G | Green pusi}et:;tjg?n
F02 GVa 05 Straight plunger Y |Yelow
06 Roller plunger
Body option 08 Toggle lever
0 Internal pilot type 30 | Push button (Mushroom)
1 External pilot type 32 | Push button (Extended)
33 Push button (Flush)
34 |Twist selector (2 position)
36 | Key selector (2 position)
Construction
Non-actuated Actuated
Force
RE
EXH.2
4 SUP
iy EXH. 1

Component Parts

No. Description Material Note No. Description Material Note
(1 | Body ADC Metallic plated ® Valve seat (A) POM
(2) | Pilot body PBT Metallic plated © Valve seat (B) POM
(3 | Head cover ZDC Black zinc chromated 10 Valve NBR
(@ | Spool valve assembly a Valve spring Stainless steel
(® | End cover ADC Metallic plated 2 Return spring Stainless steel
(6 | Piston POM (E) Spool spring Stainless steel
(@ | Plunger POM
5-6-49

O
:

SCA
VOA
SOA
VOA
M
VR

=

VHS




Series VFM300

Series VFM300
Basic |
VFM350-02-00 Sy et <] JIS Symbol
20T g
RS i ©n ©2
35 2 4
; Accessor i 315
o.i Q| + aé_.]S mounting holg (Pilot exhaust port) €22
ht IJ?I_
= O
. - m T t
[* 0 m
95 éé
-l 7™ o ol ™
m —] & - — |':
N Y h v@ ©
b JE
2 ST T
T — ; = * 0.5 MPa supply
305 04 F.OF.* 16 N
3-% mounting hole 2-% RATE 1.0 mm
(SUP CYL port) (EXH port) O.T. 2.0 mm
T.T. 3.0 mm
Roller lever 014 polyacetal or head steel roller JIS Symbol
VFM350-02-01 ymbo
VFM350-02-01S (37)
= H =] ©1 ©2)
0o 2 4

(Pilot exhaust port) 315
(EN €2

8 17 g
AR : vsxos  SANJIARD

\%‘j

1] HRNA %
o~
| NI r?;f:j
o ]
1 6-
™~ - <
7] )j Joo] Z T 0
I C I B oy 2
Y 4 1N
& | Fak
o~ -
[} (D)
o2 >\ © ] & rf@\_ o 0.5 MPa supply
*
305, | |\ 2:4.2 26.4 2% E'?'F' 2 2 :m
A mounting hole — -
WLQ—/? 35 (EXH port) O.T. 4.0 mm
( port) T.T. 6.2 mm
\?FI’;I\A% g:r)_aog_ggller lever 42 214 polyacetal or head steel roller JIS Symbol
VFM350-02-02S
] €1 62
: L il
A\l
M5X%0.8 (ED €2
| (Pilot exhaust port)
A
1R
| 20|
(N m
3 m
- >
o~ ~ ~ M
] © T — L «
« RN S
o DE
) Vs o0
o N S ‘ ‘\ Q f 3 c: # 0.5 MPa supply
| = F.O.F.* 7N
30.5 2:.42 26.4 P.T. 2.4 mm
3-1 35 mounting hole 2-%% O.T. 4.6 mm
(SUP CYL port) (EXH port) T.T. 7.0 mm

5-6-50

'\

SvC



Series VFM300

5 Port Mechanical Valve

Rubber Seal Series

VFM300

Straight plunger
VFM350-02-05

Panel mounting hole

i
oo 2l MI18X 1 @ ﬂMlN:i
Hexagon nut thick 11, o
acoss flats 27 ‘*LMAXJ—L
(@]
NI @
- o M5 0.8
(Pilot exhaust port) JIS symbol
X
A @) ©2)
1 N 2 4
; N
e N
I e 315
e G s (EN €2
E s i -
‘ [ % o
- i" | % \8 % N + 0.5 MPa supply
305 ] L@L F.O.F. 20 N
3-% 35 045 2-% P.T. 1.5 mm
(SUP CYL port) mounting hole (EXH port) O.T. 2.0mm
T.T. 3.5 mm
Roller plunger
VFM350-02-06 e 15 polyacetal or head steel roller Panel mounting hole
VFM350-02-06S 7 Lot
R / M18X 1
L Hexagon nut thick 11, -
LL] ) acoss flats 27
i g H wins
M5 X0.8
(Pilot exhaust port)
JIS symbol
i & | ¢ gié ( y) ©
. — C1) (C2
> « 2" 4
cv) m J
AN 5 - Qf‘\ 315
o 15| k9
? & |- 2y |Z
f}—. o N (o
7 = ; VI
@ IS | Rg >:E D 1a « 0.5 MPa supply
30% "2 7 A F.O.F. = 20N
3-Y 35 o4z N\ 2-% CP)'Tr' ;g o
(SUP CYL port) mounting hole (EXH port) — = M
. P T.T. 3.5 mm
Toggle lever 5.5 TT. (Total Travel) 40°
VFM350-02- ﬂ'H‘;
850-02-08 OFF ON 2-M18 X 1 Panel mounting hole
e 8
AW /‘// Hexagon nut thick 5.5,
7 ™ across flats 24
e &)
- &=
N M5 X0.8 VAT S
' ! J (Pilot exhaust port)
il hd Sl [T JIS Symbol
= N hes
< ] cne2)
Z 2 4
N~ m
o T
A R 2 S 315
o 5 Y o, | €N €2
R WY Y o
\>> N
4 W5 Mg 2Q S
i == -
-1 .5 k
3-Ya 30 JMJ\—_] * 0.5 MPa supply
(SUP CYL port) 35 242 2% FOF 15N
mounting hole (EXH port) e R 5
— T.T. 40°
5-6-51

O

SvVC

SCA
VOA
SOA
VOA
M
VR

=

VHS




Series VFM300

Series VFM300
Push button (Mushroom) R Panel mounting hole
-02- 240
VFM350-02-30R/B/G/Y V—T s
| — D
o
— = | MAX.6
| J | & 4 M5 X0.8
sl I8 oISy Ey (Pilot exhaust port)
ik i ] JIS Symbol
N ©n ©2)
/qa ! E [f I 2 4
] -
™=
N A= 0] S (531)1 (JE )
e N5 - ‘é’(\ e
L L N e
5 VPN L
of | 5 B O
30.5 26.4 * 0.5 MPa supply
35 040 F.O.F.* 21N
3-% mounting hole 2-% P.T. 4.8 mm
(SUP CYL port) (EXH port) O.T. 1.7 mm
T.T. 6.5 mm
Push button (Extended) 038 H H Panel mounting hole
VFM350-02-32R/B/G/Y 223 alal =
— Ty L
N |
\ x_‘] % MAX.6
' 5 ST 3 = M5 x0.8
_ ‘EFjF & . 1 = Risll (Pilot exhaust port)
| i JIS Symbol
Ql= \ ©1 ©2)
i 2 4
oy 8 | %WZ : 315
1 Us N NT|e ED €2
Q ° S YanWES
AN N TN |0
o ., £ m E
’ o | ;5 o 0
) A o # 0.5 MPa supply
30.5 26.4 F.OF.* 21N
2-%
35 P.T. 4.8 mm
3-Y - 242 (EXH port) 0. 1.7 mm
(SUP CYL port) mounting hole TT. 6.5 mm
Push button (Flush) a8 Panel mounting hole
VFM350-02-33 -2
023 ]
|—<——-| 0O
fr——m, e &gb :
e - e = e
| © . | M5B X0.8 o JMAXE_
—fl {E%’ "’g lh (Pilot exhaust port)
i — il
Ihdl T |
N ¢ JIS Symbol
Rk ©n 2
NI o
| o = o S
. '\ $ ol 315
- ]’ Q T ran €7 €2
3 ‘il' any A N\ |o
—’ o | /5 o Q{\ ®
=] & _Iﬁ%\ ~ #0.5 MPa supply
F.OF.* 21N
3-% 3(:)355 042 <204 2-14 AT 4.8 mm
(SUP CYL port) _ mounting hole (EXH port) O.T. 1.7 mm
T.T. 6.5 mm

5-6-52

O

SvC




5 Port Mechanical Valve

Rubber Seal Series VF M300

Series VFM300

Twist selector (2 position)
VFM350-02-34R/B/G/Y

Panel mounting hole

L
= MAX.6
= £ SOA
JIS Symbol I
L ' | ] M5 <0.8 | G102 VOA
% aal L~ B (Pilot exhaust port) g\ l/ &\ L
; S T T P
g z of ETSE2 SOA
Yy §E Ly VOA
™ &Ja % z;rl\a)f\ ;'3 —
N 1 b IC
o | Y +§%2 o= VM
- = 0.5 MPa supply
305 2-4.2
3-% 35 \mounting hole 2-% F.OF." 23N &
(SUP CYL port) (EXH port) TT. 90° VH
Key selector (2 position) Panel mounting hole R
VFM350-02-36 VHS

S

-
MAX.6
. 038

Il
1 &
D g -
i
; o olo JIS Symbol
8
= =z I C1C2
[ J ] rg _ ) M5 x0.8 T\Y] /T
E T Ty | (Pilot exhaust port) E1SE2
B 1152
A g° 4
~|T
o 8 3
o RPRE
Q 9 - QTN =
f}: N TN |
0
o | 275 s Jeur
T = b
3-% 33;’ 242 264, # 0.5 MPa supply
Q (SUP CYL port) {mounting hole 2-Y% FOF* 6 N
Key can be removed at the “on” and “off” positions. (EXH port) T.T. - 90°
External pilot type With foot bracket
VFM351 type VFM350-02-00-F 045
M5Xx0.8 mounting hole
(External pilot port)
o8
t-
Wan\,|
© &
3
R
H
P
— -
e
5-6-53
ZSNC



@)
CAD)

5 Port Mechanical Valve
Metal Seal

Series VFM2

Compact design, Specifications

Fluid Air/Inert gas

large flow capacity 18 mm2

. Operating pressure 0.1to 1.0 MPa ("
ngh CVCIE rate, Ambient and fluid temperature -5 to 60°C (No freezing)
long life/300 c.p.m. or less Effective area 18 mm?

Maximum frequency (Mechanical operation type) 300 c.p.m. or less

Piping possible to any EXH Lubrication Not required (Use turbine oil Class 11SO VG32, if lubricated.)
i 1
port. Port size Fic vahs (201 //ICIS 0.8
Proper countermeasures can be taken oot fo VS V?é k)t(Z) X2
for applications in which the noise of ption ___ oot bracke
Weight (Basic) 3009

the exhaust could cause problems to

the surroundings.

External pilot model
available. (Option)

Note 1) External pilot type Main valve: 0 to 1.0 MPa
Pilot valve: 0.1 to 1.0 MPa
Note 2) The standard body can not be retrofitted with a foot bracket.

Q = Please contact SMC for manifold mounting style.

Foot bracket and manifold Model
mounting possible.
g P Actuator Model Actuator Application
part no.
s Basic VFM250-02-00 — —
= Roller lever VFM250-02-01 VM-01C Polyacetal roller
g VFM250-02-01S VM-01CS Hard steel roller
i o -02-! -
= - ‘ } = | One way roller lever VFM250-02-02 VM-02C Polyacetal roller
t t ritit‘ 2 VFM250-02-02S VM-02CS Hard steel roller
Y ‘ i & | Straight plunger VFM250-02-05 VM-05D —
VIR S R 8 | Roller plunger VFM250-02-06 VM-06D Polyacetal roller
(K pm | ¥ hu |Vl (gt ¥ g 12 = o VFM250-02-06S VM-06DS Hard steel roller
- = = Toggle lever VFM250-02-08 VM-08D —
VFM250-02-30R VM-30CR Red
VFM250-02-30B VM-30CB Black
Push button (Mushroom) VFM250-02-30G VM-30CG Green
- VFM250-02-30Y VM-30CY Yellow
2 VFM250-02-32R VM-32CR Red
o VFM250-02-32B VM-32CB Black
§ | Push button (Extended) VFM250-02-32G VM-32CG Green
g VFM250-02-32Y VM-32CY Yellow
f
e ,
= | Push button (Flush) VFM250-02-33 VM-33C black Sraar yeow
VFM250-02-34R VM-34CR Red
Twist selector (2 position) VFM250-02-34B VM-34CB Black
P VFM250-02-34G VM-34CG Green
VFM250-02-34Y VM-34CY Yellow
Key selector (2 position) VFM250-02-36 VM-36C —

5-6-54

@

Note 1) Actuator replacement is available for all types.

Note 2) For push button (mushroom), push button (extended), push button (flush) and a single
unit of fastening ring, refer to pages 5-6-6 to 5-6-7. The other parts are not

replaceable.

Note 3) The handle of the selector (2 position) cannot be removed or replaced alone.



5 Port Mechanical Valve .
Metal Seal Series

How to Order

VFM200

VFM25

02 01

Suffix for actuator

Option

Foot bracket

P . Actuator type S | Hard steel roller (Only internal pilot)
Ort Size 00 Basic R Red C | f
02 Rc 14 Roller | oloro
o oS VT B | Black push button —
02 One way roller lever G [Green| oiiector SOA
Body option 05 Straight plunger Y | Yellow
- Roller plunger o
0 Internal pilot type 06
1 External pilot type 08 Toggle lever VDA
30 | Push button (Mushroom) —
32 | Push button (Extended) SDA
33 Push button (Flush) —
34 | Twist selector (2 position)
36 | Key selector (2 position) VOA
Construction VR
Non-actuated Actuated
VH
Force VHS
13
& & 8 & &
] = 1
PE _Lir PE
——®
' s‘q@; '
@— ! \®
I |
i T EA | -1 EA
w08 5 Aﬁfj.J[-é
O— BN «P sEadi jeP
—0
TIRPa (s o [ 2
I T 1
I I
O— S -l es = i EB
— i /@ !
it /® '
|
== A—" ==
1 I
Component Parts
No. Description Material Note No. Description Material Note
(D | Body ADC Metallic plated @2 | Cushion for end cover |  Urethane rubber
(@ | Pilot body ZDC Metallic plated (3 | Plunger POM
(3 | Head cover ZDC Black zinc chromated ) | Valve seat (A) POM
(@) | Spool/sleeve Stainless steel @ | Valve seat (B) POM
(® | End cover POM (o | Valve NBR
® | Piston guide Brass @ | Return spring Stainless steel
7 | Piston guide for end cover Brass @® | Return spring Stainless steel
® | Piston POM 19 | Valve spring Stainless steel
(9 | Piston for end cover POM 20 | Mini'Y packing NBR
(10 | Guide bushing POM @) | Mini'Y packing NBR
1) | Cushion Urethane rubber
5-6-55

O
:



Series VFM200

Series VFM200
Basic 4? )
VFM250-02-00 — r:’;@t "’j
o il
JIS Symbol
20 2-03.8 M5 X0.8
Hl w45 /Accessory mounting hole  / (Pilot exhaust port) (B) (A)
oo F 2 4
.‘r, ¥ M @
i e =]
T B ) ;
L /J 1ed 3 1 5
v (EB)(P)EA)
. —
Yai E o €7 < A
>> -6 7|2 TSl
o~ e TR @t
3 €> ‘ & &yﬁ g
A
o il : J N | 6'_‘ -
o U@ SRE o o, ol 0.5 MPa supply
ol I ——— I F.O.F.* 16 N
4 55 28 -2 (P):.' ;'g mm
T. .0 mm
345 mounting hole 5-Re’s T.T. 3.0 mm
Roller lever 014 polyacetal or head steel roller
VFM250-02-01
VFM250-02-01S (37)
33 ]
8 235 Tl JIS Symbol
1 37 N
:J N ®®
@4 - M5 x0.8
L (Pilot exhaust port) A \ / @
s © Jj.éjl o ET ! T
—2 m 3 1 5
- | (EB)(P)(EA)
©
~ ! Pan
<t
i z AR Pz
. o < D [N
8{ | » & éj‘u g
o 3l \: 45{3 -
o A3 9 F-r? % + 0.5 MPa supply
\ *
F.O.F. 8N
5.5 2 332 PT. 22mm
O.T. 4.0 mm
5-Rcl4 3-4.5 mounting hole TT. 6.2 mm
One way roller lever (42) 014 polyacetal or head steel roller
VFM250-02-02 23
VFM250-02-02S 3 235 el
= ‘ NS
1117 JIS Symbol
()
1 G
8 e (®) (A)
D UG 2 4
E‘aﬁ % M5 0.8 /W
hosr =y -5/ (Pilot exhaust port) ED
il #r\ L o i 1,
L i £ | 1O 3 15
‘, o : (EB)(P)EA)
o :
; - Tary
n T w7/
I g = & s
3 o €D~ 6 L= b
1 R e
[ Q <«
ol 3 S
N . : \ ~ éa =
o | 13- % - T{E 8 # 0.5 MPa supply
{ \ I F.O.F. * 7N
4 55 28 2 P.T. 2.4 mm
40 . 23 O.T. 4.6 mm
5-RcY4 3-4.5 mounting hole TT. 7.0 mm

5-6-56

'\

SvC




5 Port Mechanical Valve

Metal Seal Series

VFM200

Series VFM200
Straight plunger o Panel mounting hole
VFM250-02-05 ol Elt;',: M-18 1
; Hexagon nut thick 11,
T _ across flats 27
BORIL: MIN.3
z M5 X 0.8 MAX. 11
! | (Pilot exhaust port)
LJ_:;L ‘ 23 { _L/
i, /SN R L SOA
i & JIS Symbol =
0
Z ] (B)(A)
8 i L VoA
iy - ] <
<1~ B it syl fKD | [STA
Sy | g & | 315 —
R « &N ﬁﬁ & (EB)(P)(EA) VOA
i e < b o -
& i B N g & # 0.5 MPa supply
T 5.5 5 5 F.O.F.* 20N —
40 2 [T 1.5 mm VR
5-Rc )4 3-4.5 mounting hole '?'-Il— ig mm —
.T. .5 mm
VH
Roller plunge Panel mounting hole S
VFM250-02-06 VHS
VFM250-02-06S =l @15 polyacetal or head steel roller L
R i e
) i Hexagon nut thick 11, MIN.3
!, E‘a— o J acrosgs flats 27 MAX.11
bt < =¢ __ wexos
- . (Pilot exhaust port)
1l - 0
1 - i | 2 JIS symbol
~ . (g) (ﬁ)
f = ‘
=y 3 1oy /N \ /
o ol Nl b
< &> s @DQ 3T 1 5 =
S W & |3 (EB)(P)(EA)
o~ i N | ! ~ @ ’1'
ol @ DI S o S mi o 0.5 MPa supply
™ H i 3} JmlN
BB I i F.O.F. * 20N
o [T ea ]z e PT. 1.5 mm
\5-Rcl4 0 3-4.5 mounting hole ?_;_l' . 2.0 mm
.T. 3.5 mm
Toggle lever 055 T.T.(Total Travel) 40° Panel mounting hole
VFM250-02-08 ‘ OFF ON - M18X1
f A\ | Hexagon nut thick 11, &
ﬁ 1/ il /| across flats 27
= — ] MAX.7.5
_— < o F e
S M5 X0.8
[ (Pilot exhaust port)
- m
1] % ~ _J%{-c JIS symbol
D m
| g | ®®
i [
~ L \Ad
| [ Q g \ i\
jany | | Wl < T T
b [N ? < 4 §j 5] 315
8 ! TS € AL (EB)(P)(EA)
s 3 . O
3 S B e
[ T i
a |l 55 28 | L2
5-Rcl 40 23 # 0.5 MPa supply
mountingsr;‘cl).lg FOF.”* 15N
T.T. 40°
5-6-57



Series VFM200

Series VFM200
Push button (Mushroom) L Panel mounting hole
VFM250-02-30R/B/G/Y a0 ==
2 2
- - =&
: d . A MAX.6
| | Io2 .
, . ® : M5X0.8
= ‘J;@‘ILE& g\l I 'qa (Pilot exhaust port)
| 1‘ : -
] [=——m JIS Symbol
38 (B)(A)
{ Nl 2 4
o 2l (e NIAD
N S T B3 T T
s 3 @R & 3 15
& | & ol (EB)(P)(EA)
o Y N \ o A
%' o1 - 43 o Ki’f /qu Q # 0.5 MPa supply
\ ‘ F.O.F. * 21N
414 5.5 28 L2 P.T. 4.8 mm
e 40 ] 345 .23 O.T. 1.7 mm
5-Rcl4 mounting hole TT. 6.5 mm
Push button (Extended) Panel mounting hole
VFM250-02-32R/B/G/Y .
alol-
,,,,,,, IR 1
I =1
E J—t = —-—HM
L :,j:J ‘*’rg. ] M5 X0.8
;‘Ff“@ }Fﬂ J . 31 (Pilot exhaust port)
= ‘ ~ T3 JIS Symbol
i B
sl (B) (A)
] 2 4
2 ok SN ARD
& h L m > T T
< o L3 € & 3 15
< N & 2 2 (EB)(P)EA)
<+ ranN
i o~ |
§ i G S § & ’Vg N 0.5 MPa supply
T ) - F.O.F.* 21N
ERLB) 55, . %(3) 545 7{32— PT. 4.8 mm
mounting hole O.T. 1.7 mm
5-Rcla T.T. 6.5 mm
Push button (Flush) Panel mounting hole
VFM250-02-33 ﬂgg i
%) ool
=
Eﬂ- w2 3 %% MAX.6
[ N ] o[ [ M5 <0.8
=] T = T @ Py (Pilot exhaust port)
1
,\g | m JIS Symbol
o
el BYA)
f N g 4
P e EIALARD
<1 [\ < A \> 8 3 1 5
S i 118 W« (EB)(P)EA)
ol - \ ﬁn &
N 1 o o Vi
o @ < 4+ S i o N 0.5 MPa supply
\ *
F.O.F. 21N
T 55 | |_ 28 \ 345 -z PT. 4.8 mm
40 mounting hole 23 oT 1.7 mm
;5—Rc% T.T. 6.5mm

5-6-58

'\

SvC



Series VFM200

5 Port Mechanical Valve

Metal Seal Series

VFM200

Twist selector (2 position)

VFM250-02-34R/B/G/Y

-
oa e in
wobe. WFM250

L ] L ]

(eé

N
s 2
238 < <]
2245 oFF
Q 9 ool
| —l&
.
Q
«
h
o
s
| | z8e
A Ie
G1ED> <B—v
[=} =3
Ay O\
Ly ]
n ~
N N N
8l S Es

Mb X0.8
(Pilot exhaust port)

_q)‘
—E;BE%d % v3 [
22 204|204

a1 55 3 2 2\;2 0.5 MPa supply
\5-Rck 3-4.5 F.OF.* 23N
mounting hole T.T. 90°

Panel mounting hole
I D MAX.6

JIS Symbol

(B)(A)
2

I 4

Key selector (2 position)

VFM250-02-36

)

Panel mounting hole

MAX.6

g JIS Symbol
B)(A)
® ) 2 4
® r ; M5 }0.8 \ /
Kl | i
HH o ' (Pilot exhaust port) dT 1 T
: < K 5
: g 4 (EB)(PXEA)
@ 50 Qlc
E r\g
e @ == A
@ N = Whls
< [\ = N &
\ & 4 & N [«
" mige < Py
§ S e | § e JS N
\\I | . .
4 5.5 28
1 . 40 345 5 * 0.5 MPa supply
Q . P s mounting hole F.O.F. * 26 N
Key can be removed at the “on” and “off” positions. T 90°
External pilot type With foot bracket
VFM251 type VFM250-02-00-F 44.4
344, 245
M5x0.8 ==}/ mounting hole
(External pilot port) fi
3
—%-
~| 1€
5 @
B M
= 3
L
5-6-59

O
:

SCA
VOA
SOA
VOA
M
VR

=

VHS




